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IIpsxa

- Kartopu Gonca (K018) / YarnArt Jeans (03),
- Himalaya Dolphin baby.

Kprouok

-25/12wmmM,

- 3 MMm.

I'ma3ku - 8 MM.

Hocuxk - 11 mm.

MK na YouTube: https://www.youtube.com/watch?v=obJiYqeP-
|s&list=PLIM]Y PWNbm9RoM4uO7xE4-9FN_dgXZsl&index=2
I'pynma BK https://vk.com/public179431918

Instagram https://www.instagram.com/my_Kknitted_toys/



https://www.youtube.com/watch?v=obJiYqeP-js&list=PLJMjY_PWNbm9RoM4uO7xE4-9FN_dgXZsI&index=2
https://www.youtube.com/watch?v=obJiYqeP-js&list=PLJMjY_PWNbm9RoM4uO7xE4-9FN_dgXZsI&index=2
https://vk.com/public179431918
https://www.instagram.com/my_knitted_toys/

Hauunaewm Bsi3anue kproukom 2,5 / 2 mm nipsixeii Kartopu Gonca / YarnArt Jeans.
1. BKA 2 B, 6 cOH.

2.61p =12 cOH.

3. (1 cOH + mp)*6 = 18 cOH.

4. (2 cOH + p)*6 = 24 cOH.

5. (3 coH + 1p)*6 = 30 cOH.

6. (4 cOoH + p)*6 = 36 cOH.

7. (5 cOH + 1p)*6 = 42 CcOH.

8. (6 coH + 1p)*6 = 48 cOH.

Mensiem kprodok Ha 3 MM u nipspky Ha Himalaya Dolphin baby.
9-11. 48 cOH. (mpu psoa)

12. (6 cOH + y0)*6 = 42 cOH.

13. (5 cOou + y6)*6 = 36 cOH.

14. (4 c6H + y6)*6 = 30 cOH.

15. (3 cOn + y0)*6 = 24 cOH.

16. (2 cOn + y6)*6 = 18 cOH.

17. (1 coH + y6)*6 = 12 cOH.

18. 6 yo = 6 cOH.

CMAHYMb OMEepCmue Ueioll

Pyuku (2 1mt.)

1.8 KA 2 Bn, 5 cOH = 5 cOH.

2.5 0p =10 coH.

3. mpoBsi3aTh 5 COH, ocmasums Humb 01 npuwuearus (P MPOBS3aH HE 10 KOHIA).

Hoxxku (2 mit.)

1.8 KA 2 B, 5 cOH = 5 cOH.

2.5 0p =10 coH.

3. mpoBs3ath 7 COH, ocmasums HumMs O

npuwiusanus (psi MPOBS3aH HE 0 KOHIIA).




